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THE OPEN UNIVERSITY OF SRI LANKA

- BACHELOR OF MANAGEMENT STUDIES DEGREE PROGRAMME
LEVEL - 04

FINAL EXAMINATION - 2018

MACRO ECONOMICS —MCU 2207

DURATION : THREE (03) HOURS

DATE : 19.05.2018 ' TIME : 1.30 p.m. —4.30 p.m.

Instructions :
Answer Part -A (40 Marks) and any three (03) questions (20 Marks Each) from Part -B.
Use of a non-programmable calculator is allowed.

PART - A

Question No. 0\_1

a) What kind of public policies would help a country to achieve higher economic growth and
better standards of living for its citizens? Explain. (06 Marks)

b) “Policies employed by the government to achieve higher economic growth and reduce
unemployment could create upward pressure on the inflation rate of a country.”
Do you agree? Explain. ' (06 Marks)

¢) Although Gross Domestic Product (GDP) is a reasonably accurate and highly useful
measurement in gauging economic performance, it has several limitations as a measure
of both total output and wellbeing. What are these limitations/short comings? Explain.
(07 Marks)
d) What are the stages of Business Cycles? Explain using illustration.
If the economy is overheated, what kind of policy interference is necessary to stabilize the
economy? Explain.
(07 Marks)
e) i. Savings is crucial to increasing investments and consequently future output. How does the
savings relate to investments thus the growth? Explain.

ii. How does the change in real rate of interest influence the level of investment expenditure in
a country? Explain. - : (08 Marks)

f) ‘What problems do barter system entail? Explain the economic significance in using money
Instead of relying on barter system. : (06 Marks)
. (Total - 40 Marks)




PART-B

Question No. 02

a) Details of a three sector economy given as; (Figures in Rs. Billions).

S=-160+ dYa (Savings Function) MPC = 0.8(Marginal Propensity to Consumg)\
T= 62 (Autonomous Investments) T = 20 ( Autonomous Taxes)
‘G = 88 (Autonomous Government expenditure)

i, Calculate the equilibrium level of National Income (NI) using Savings function. (02 Marks)

ii. Derive the Consumption function from the above Savings function and using the same
calculate the equilibrium level of NL (03 Marks)

iii. In addition to autonomous taxes, if the government introduces an income tax of 10%
and Transfer payments of Rs.10 billion (TR=10), find the new equilibrium level of NI.

(04 Marks)
b) Suppose the economy opens up and following changes take place.
i .
X =72 (Autonomous Exports) M =74 + 0.2Y (Import Function)
Find the new equilibrium level of NI.
(04 Marks)
ii. What makes Exports autonomous and Imports a function? Explain. (03 Marks)

iii. Suppose the domestic currency depreciates against the currencies of its trading partners
and as a Tesult autonomous exports changes by Rs. 6 billion and autonomous imports
changes by Rs. 2 billion, calculate the new equilibrium of NL (04 Marks)

Question No. 03

a) Using illustrations distinguish between Partial Crowding Out effect and Full Crowding Out
effect. . (06 Marks)

b) i. What is meant by “Liquidity Trap”? What is the shape of LM curve within Liquidity Trap
range? Explain using illustrations.
ii. Suppose an economy is in Liquidity Trap range, using illustrations explain the impact of
foliowing policies on income level and the interest rate of the economy.
¢ Government increases its expenditure. ' .
¢ Central Bank reduces interbank lending rate. {08 Marks)




00068

¢) . Suppose demand for money does not depend on rate of interest at all, using illustrations
explain the impact of following policies on income level and rate of interest in the

economy.
o Central Bank reduces the reserve requirement of commercial banks.
e Government reduces the tax rate. (06 Marks)
Question No. 04 : e
a) Using illustrations differentiate between Demand-Pull and Cost-Push inflation. What causes
Demand-Pull and Cost- Push inflation? Explain. (06 Marks)
b) Explain the impact of higher inflation on an economy of a country. (08 Marks)

¢) How would the Classical economists differ from Keynesians in explaining the relationship
between money supply and average price level in the economy. Explain using illustrations.
(06 Marks)

Question No, 05

&) Using Phillips Curve explain the short run relationship between inflation and unemployment.
(04 Marks)
b) How would Structural Unemployment differ from Frictional Unemployment? How could
Frictiona! and Structural unemployment be reduced? Explain. (06 Marks)

¢) Is it possible for macroeconomic policy makers to achieve zero unemployment in a country?

Explain. . ' (05 Marks)
d) Does the official unemployment figure reflect true statues of unemplbyment in a country?
Explain. (05 Marks)
Rights Reserved.
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